Solutions to Chapters 1-2 Cumulative Review.notebook

MULTIPLE CHOICE
1. Kari is studying the number of handshakes among groups of people. Based
on groups of 2, 3, and 4 people with 1. 3, and 6 handshakes, she conjectures
that the number of handshakes follows the sequence of triangular numbers.
Kari then discovers that there are 10 handshakes among 5 people and 15
handshakes among 6 people. What can you say; based only on the new
evidence, about Kari’s conjecture?
A. The conjecture is valid.
@Thc new evidence supports the conjecture.

C. “The conjecture is not valid.

D. The tiew evidene does not suppoit the conjectute.
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4. This proof seems to show that 4 = 2. Where is the error?

Leta=2bb#0.
& =2ab A. Multiply by a.
@ — 40 = 2ab — 45 (Subtract 44°.)
(a + 2B)(a — 26) = 2b(a — 26) B. Factor.

a+2b=2b (C) Divide by (« — 26).
4b =26 (Substitute @ = 24
4=2 D. Divide by &.

5. Which of the following pairs of angles are corresponding angles?
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2. Kevin claims that the midpoints of any quadrilateral, when joined, form a
rhombus. Which of the following is a counterexample to Kevin's conjecture?
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7. Whar is the measure of each interior angle of a regular nonagon?
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A. 280° B. 40°
= nonagon =* Asides

L\“‘.‘eqsure of each interior cmg\e = LS%MJ
180°9 —2)
180°(7)

q

= INO®

I

]

Jun 4-2:12 PM

Jun 4-2:12 PM

10. Determine each angle measure.
La=72°
cd=g8°

Le=9°
-7

Lb=82°
Ze=12"°

1. Determine the following angle measures in the regular pentagon ABCDE.

LEAB=\08°  LAEF=3C° LFEAF=T2° LFEAB=3L°
£LEFA =72.°

LAFB =(0%" LEBA=3C" LDAC=3(" LADC="T2"
LACD=72"

Use your results to identify two pairs of similar triangles within ABCDEF.
DACD ~ AEAE. AARE ~ AFAB
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13. ) Make a conjecture about the sum of two consecurive perfect squares.

“The sum of two consecutive perfect
Sqgrares (S always an odd number.

b) List evidence that supports or disproves your conjecture.

22+3* o Do +21*
=44 +9 q+1¢ =Moo+MY|
=13 (odd) =95 (odd) = 8MI (odd)

©) Ifpossible, prove your conjecture.

:
het S= sum

Let A= any 1(‘\+c36r.

NS
S= x>+ (x+1?

S= %> 4+ (x+1)Xx+1)
S= X*+ x?+Ix+Ix +!
S=DxX*+Ixtrl
S lﬁxi;x)ﬁ—l ( This s always an odd #)

Even
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14. The measure of an exterior angle of a triangle is the sum of the measures of the

B
two non-adjacent interior angles. Use this fact and AABC to prove that the
sum of the interior angle measures of a triangle is 180°.
D =+ c
<DAR =<RB+<«C (Given)

< DAB+ < BAC=1R0" (Supp\emem*\ﬂry J\m(}\ﬁé/\
< DAR= 1R0°-<BAC
(180™-<BAC) =< B+<C

1R0° = <«BAC +< B+ < C (Substituthon)
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